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Part A: Grammar
Directions: Questions 1-10 are incomplete sentences. Beneath each sentence you will see four words or phrases, marked (1,2,3),
and (4). Choose the one word or phrase that best completes the sentence, then mark the correct choice on your answer sheet.
1- A: Where should I put the used papers?
B: The papers ... are next to the door.
1) have discarded 2) to be discarded 3) will discard 4) are discarding
2- The Smiths ... to visit all the points of interest in Melbourne next month.
1) would plan 2) plans 3) is planning 4) are planning
3- By the next August, I ... my exams and I’ll be ready for a holiday.
1) will have finished 2) will be finishing
3) will have been finishing 4) am finishing
4- We were kept at the police station for two hours and then ... .
1) we allowed to go 2) we allowed to be gone
3) we were allowed to be gone 4) we were allowed to go
5- Jane together with her two brothers ... for the school basketball team for 2 years.
1) play 2) have played 3) has played 4) have been playing
6- The class is too large, so it ... into two sections by the professor.
1) has to be divided 2) has to divide 3) has divided 4) has been dividing
7- ... John and his brother that live in the north of the city.
1) Itis 2) They are 3) Those are 4) These are
8- He ... for five hours when I ... him in the library.
1) was studying — have seen 2) had been studying — saw
3) was studying — had seen 4) had been studying — have seen
9- The result of the final tests ... sent to the central office for reconsideration.
1) are being 2) is going to be 3) has 4) have been
10- A: “How about more pie?”
B:“No, but thanks. I can’t swallow another bite. I ... too much.”
1) am going to eat  2) have eaten 3) had eaten 4) was eating
/
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Part B: Vocabulary
Directions: Questions 11-25 are incomplete sentences. Beneath each sentence you will see four words or phrases, marked (1,2,3)

and (4). Choose the one word or phrase that best completes the sentence, then mark the correct choice on your answer sheet.

11- We have bought a large ... of potato chips for the party and are ready and willing to welcome our guests with
open arms.
1) possibility 2) quantity 3) certainty 4) quality
12- She helps me out when I have too much to do, and I return the ... when I can.
1) favour 2) success 3) confidence 4) distance
13- Since my plane was ... by three hours, I missed the beginning of the conference.
1) progressed 2) crashed 3) delayed 4) struggled
14- The river is quite ... here, but as it gets near the sea, it begins to widen.

1) narrow 2) flooded 3) shallow 4) strengthened
15- She never stopped eating fast food. ..., she got heart attack and died at a young age.
1) Seemingly 2) Immorally 3) Consequently 4) Vaguely

16- Itis no use ... about the hotel conditions; we are only here for one night.
1) demonstrating 2) occurring 3) grumbling 4) preferring
17- The article recently published in “Science” magazine ... my ideas.
1) leans 2) supports 3) leads 4) provides
18- All the students in the class have to ... their own science experiments.
1) conduct 2) possess 3) progress 4) inspect
19- The coach ... every player’s performance during the season to make good choices for the national team.
1) conquered 2) complied 3) supervised 4) superseded
20- You’ve missed a whole term; you’ll have to work hard to ... the rest of the class.
1) bring about 2) catch up with 3) come down with 4) bring out

21- We are pleased to inform you that you have been considered ... for this position. Please contact our personnel

office.
1) eligible 2) legible
3) incompetent 4) inappropriate

22- The successful ... of their plan depended on an intelligent and hard-working engineer.
1) transformation 2) execution 3) deduction 4) occupation

23- The program is intended for children who have come here with their parents as illegal migrants, ... those aged
7-11.
1) similarly 2) sufficiently 3) significantly 4) specifically

24- The system has been designed to allow the user to easily ... the computer file.
1) access 2) assume 3) guide 4) stick

25- Many people believe that if you want to have a successful life, you should ... your working life from your
family.
1) shake 2) perform 3) produce 4) separate

\ /
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Part C: Word Order

Directions: Choose the sentence with the best order for each of the following series, then mark the correct choice on your answer

sheet.

26-
1) You don’t need take heavy clothes when you go to Bangkok where has the highest average temperatures of any
city of the world.
2) You don’t need to take heavy clothes when you go to Bangkok which has the highest average temperatures of any

city in the world.

3) You don’t need to take heavy clothes when you go to Bangkok in which has the highest average temperatures of
any city of the world.
4) You don’t need take heavy clothes when you go to Bangkok where it has the highest average temperature of any
cities in the world.
27-
1) All the buildings and bridges destroyed by the Tsunami in Japan while we were enjoying our vacations here in Iran.
2) All the buildings and bridges destroyed with the Tsunami in Japan while we were enjoying from our vacations here in Iran.
3) All the buildings and bridges were destroyed by the Tsunami in Japan when we were enjoying our vacations here in Iran.
4) All the buildings and bridges were destroyed with the Tsunami in Japan when we were enjoying from our vacations here in Iran.
28-
1) The scientists researching the main reasons of the success for the project, making valuable achievements.
2) The scientists researching the main reasons for the success of project made valuable achievement.
3) The scientists are researching the main reasons of the success for project made valuable achievements.
4) The scientists were researching the main reasons for the success of the project, making valuable achievements.
29-
1) It is almost impossible to find two people all of their opinions are exactly same.
2) This is almost impossible to find two people all of their opinions are exactly the same.
3) It is almost impossible to find two people all of whose opinions are exactly the same.
4) This is almost impossible to find two people all of whose opinions are exactly same.
30-
1) The man who lives in a house across from ours drew a famous picture of a group of soldiers shooting people.
2) The man who lives in a house along from ours drew a famous picture of group of soldiers shooting people.
3) The man who is living in a house along from us drew a famous picture of a group of soldiers shooting people.

4) The man who is living in a house across from us drew a famous picture of group of soldiers shooting people.
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Part D: Language Function
Directions: Read the following conversations between two people and answer the questions about the conversations by choosing
one of the choices (1,2,3) or (4). Then mark the correct choice on your answer sheet.
A: Isupposeit’s ...31... for John to be promoted; he has written ...32... on economics, but his books have ...33...
unnoticed.
B: You’re right; he ...34... and his efforts should be rewarded.
31-1) no picnic 2) high time 3) at stake 4) out of touch
32-1) at all costs 2) a long shot 3) at first sight 4) a great deal
33-1) made 2) taken 3) gone 4) set
34-1) hit the roof 2) was two-faced
3) worked his fingers to the bone 4) got up on the wrong side of the bed
A: Maggie has to get to the airport by 3:00. Can you ...35... ?
B: No problem.
35-1) track her down  2) get your act together 3) hold your own 4) give her a lift
A:1...36... being a project leader involved so much work! I’m going to ask someone else to do it.
B: You can’t do it! You ...37... a promise you would be the leader; now you have to ...38... .
36- 1) was tight-fisted  2) had no idea 3) saw eye to eye 4) joined forces
37-1) did 2) got 3) made 4) let
38- 1) seize the moment 2) know the ropes
3) shoulder the responsibility 4) let sleeping dogs lie
Maureen: The mail-carrier just brought a registered package for you. It’s from Japan.
Wendy: I haven’t been expecting anything. Oh, ...39... .1 was told that she’d moved to Tokyo.
Maureen: ...40...
Wendy: Her husband is doing some research in biology.
39-1) it will be forwarded 2) it’s the wrong address
3) it can be a nice change 4) it must be from my cousin, Betty
40- 1) How often does she travel? 2) What’s she doing there?
3) What does she do for a living? 4) How long has she been there?
/
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Part E: Cloze Test

Directions: Read the following passage and decide which choice (1,2,3) or (4) best fits each space. Then mark the correct choice

on your answer sheet.

Sleep deprivation is widespread among students. They stay up late at night to study and get prepared for

their upcoming exams. It’s no secret that many college students get ...41... sleep. Your academic studies, social

life, part-time or full-time jobs, and relationships are often given ...

42... over sleep, right? And it gets even

worse as final exams ...43... . Then it feels like staying awake is ...44... .

According to a research, nearly 25% of students surveyed ...45... that sleep difficulties are an impediment

to their academic ...46... .Whether you’re nodding off during class ...47...

sluggish, and ...48...

, you’re probably not making the most of your tuition dollars . ...49...

taxing both your immune system and quality of life.

moving through each day feeling

, you may be

If you’re like many undergraduate students and ...50... only 6 hours of sleep a night, then you ...51... to

learn that you’re sleep deprived! In fact, according to current research, most undergraduates need 8.5-9.25

hours of sleep (most adults, 7-9 hours) ...52... avoid daytime drowsiness (inability to concentrate or remember

and slowed reaction time), altered mood states (anxiety, irritability and depression), weight ...53...

health and low energy. The bottom line is that sleep is a ...54...

athletic performance depend on ...55... sleep.

41-1) a few

42- 1) minority
43-1) calm

44- 1) mechanical
45-1) indicate
46- 1) resistance
47-1) since

48- 1) fresh
49-1) As if

50- 1) averaging
51- 1) may surprise
52-1) for

53-1) gain

54-1) prediction

55-1) perilous

2) few

2) priority

2) reach

2) reliable

2) define

2) maintenance
2) as

2) tired

2) Even though
2) imitating

2) surprise

2) so that

2) extent

2) necessity

2) adequate

3) too little

3) acceptance
3) approach

3) available

3) notice

3) performance
3)or

3) keen

3) Despite

3) mocking

3) be surprised
3) in order to
3) plight

3) velocity

3) variable

, poor

, not a luxury. Your top academic and/or

4) such little
4) competence
4) classify

4) critical

4) prepare

4) deliverance
4) while

4) swift

4) Additionally
4) lacking

4) may be surprised
4) so as not

4) pace

4) cooperation

4) frivolous
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Part F: Reading Comprehension
Directions: In this part of the test, you will read three passages. Answer the questions about the passages by choosing the best
choice (1,2,3) or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1
The next few decades will see great changes in the way energy is supplied and used. In some major oil

producing nations, peak oil has already been reached, and there are increasing fears of global warming.
Consequently, many countries are focusing on the switch to a low carbon economy. This transition will lead to
major changes in the supply and use of electricity. Firstly, there will be an increase in overall demand, as
consumers switch from oil and gas to electricity to power their homes and vehicles. Secondly, there will be an
increase in power generation, not only in terms of how much is generated, but also how it is generated, as there
is growing electricity generation from renewable sources. To meet these challenges, countries are investing in
Smart Grid technology. This system aims to provide the electricity industry with a better understanding of
power generation and demand, and to use this information to create a more efficient power network.

Smart Grid technology basically involves the application of a computer system to the electricity network.
The computer system can be used to collect information about supply and demand and improve the engineer’s
ability to manage the system. With better information about electricity demand, the network will be able to
increase the amount of electricity delivered per unit generated, leading to potential reductions in fuel needs
and carbon emissions. Moreover, the computer system will assist in reducing operational and maintenance
costs.

Smart Grid technology offers benefits to the consumers too. They will be able to collect real-time
information on their energy use for each appliance. Varying tariffs throughout the day will give customers the
incentive to use appliances at times when supply greatly exceeds demand, leading to great reductions in bills.
For example, they may use their washing machines at night. Smart meters can also be connected to the
Internet or telephone system, allowing customers to switch appliances on or off remotely. Furthermore, if
houses are fitted with the apparatus to generate their own power, appliances can be set to run directly from
the on-site power source, and any excess can be sold to the grid.

With these changes comes a range of challenges. The first involves managing the supply and demand.
Sources of renewable energy, such as wind, wave and solar, are notoriously unpredictable, and nuclear power,
which is also set to increase as nations switch to alternative energy sources, is inflexible. With oil and gas, it is
relatively simple to increase the supply of energy to match the increasing demand during peak times of the day
or year. With alternative sources, this is far more difficult, and may lead to blackouts or system collapse.
Potential solutions include investigating new and efficient ways to store energy and encouraging consumers to

use electricity at off-peak times.
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A second problem is the fact that many renewable power generation sources are located in remote areas,
such as windy uplands and coastal regions, where there is currently a lack of electrical infrastructure. New
infrastructures therefore must be built. Thankfully, with improved smart technology, this can be done more
efficiently by reducing the reinforcement or construction costs.

Although Smart Technology is still in its infancy, pilot schemes to promote and test it are already
underway. Consumers are currently testing the new smart meters which can be used in their homes to manage
electricity use. There are also a number of demonstrations being planned to show how the smart technology
could practically work, and trials are in place to test the new electrical infrastructure. It is likely that
technology will be added in 'layers', starting with 'quick win' methods which will provide initial carbon
savings, to be followed by more advanced systems at a later date. Cities are prime candidates for investment
into smart energy, due to the high population density and high energy use. It is here where Smart Technology
is likely to be promoted first, utilizing a range of sustainable power sources, transport solutions and an
infrastructure for charging electrically powered vehicles. The infrastructure is already changing fast. By the

year 2050, changes in the energy supply will have transformed our homes, our roads and our behavior.

56- According to paragraph 1, what has happened in some oil producing countries?
1) They are unwilling to sell their oil any more.
2) They are not producing as much oil as they used to.
3) The supply of oil is unpredictable.

4) Global warming is more severe there than in other countries.

57- Which of the following is NOT a benefit of Smart Grid technology to consumers?
1) It can reduce their electricity bills.
2) It can tell them how much energy each appliance is using.
3) It can allow them to turn appliances on and off when they are not at home.

4) It can reduce the amount of energy needed to power appliances.

58- According to paragraph 4, what is the problem with using renewable sources of power?
1) They do not provide much energy.
2) They often cause system failure and blackouts.
3) They do not supply a continuous flow of energy.

4) They can't be used at off-peak times.

59- The word “remote” in paragraph 5 could be best replaced by:

1) isolated 2) crowded 3) attractive 4) alone
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60- What is the main idea of the final paragraph? (Paragraph 6)
1) To describe who will benefit from Smart Grid technology first
2) To outline the advantages of Smart Grid technology
3) To summarize the main ideas in the previous paragraphs
4) To describe how, where and when Smart Technology will be introduced
PASSAGE 2
The most conservative sect of the Mennonite Church is the Old Order Amish, with 33,000 members living
mainly today in the states of Pennsylvania, Ohio, and Indiana. Their lifestyle reflects their belief in the
doctrines of separation from the world and simplicity of life. The Amish have steadfastly rejected the societal
changes that have occurred in the previous three hundred years, preferring instead to remain securely rooted
in a seventeenth-century lifestyle. They live on farms without radios, televisions, telephones, electric lights, and
cars: they dress in plainly styled and colored old-fashioned clothes; and they farm their lands with horses and
tools rather than modern farm equipment. They have a highly communal form of living, with barn raisings
and quilting bees as commonplace activities.
61- The paragraph preceding this passage probably discusses ... .
1) other more liberal sects of Mennonites 2) where Mennonites live
3) the communal Amish lifestyle 4) the most conservative Mennonites
62- Which of the following would probably NOT be found on an Amish farm?
1) A hammer 2) A cart 3) A long dress 4) A refrigerator
63- It can be inferred from the passage that a quilting bee ... .
1) involves a group of people 2) is necessary when raising bees
3) always follows a barn raising 4) provides needed solitude
64- Which of the following is most likely the topic of the paragraph following the passage?
1) The effects of the communal lifestyle on the Old Order Amish
2) How the Old Order Amish differ from the Mennonites
3) The effect of modern technology on the Old Order Amish
4) The doctrines of the Old Order Amish
65- The word “steadfastly” in line 3 is closest in meaning to ... .

1) happily 2) loosely 3) firmly 4) flexibly
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PASSAGE 3

Temperature measurements over more than 100 years between the early twentieth century and now
indicate that Earth's average surface temperature has risen about 0.8°C. Many scientists believe that
greenhouse gases are responsible for that.

The warming potential of CO2 is low compared to the other greenhouse gases. Nonetheless it is the major
greenhouse gas because major quantities are emitted.

Second in importance is methane, present in much smaller amounts, but with a high GWP (Global
Warming Potential). Molecule for molecule, methane has about 25 times the warming potential of CO2. Water
vapor is also an important greenhouse gas, but is almost all natural and not a result of industrialization. Soot
from incomplete combustion is also considered a greenhouse "gas".

Notice that most of CO2 in the world is emitted by natural systems and absorbed by natural systems
(atmosphere, water, vegetation, and soils). More than 6.6 billion tons (6 billion tonnes) of CO2 are emitted by
human actions each year, a small quantity compared to natural amounts. However, natural systems are
absorbing less than half of anthropogenic emissions meaning that human actions are adding more than 3.3
billion tons (3 billion tonnes) each year to the atmosphere. The result is that atmospheric CO2 has built up
from 280 ppm in the pre-industrial world to 387 ppm in May, 2008.

66- Which gas is considered as the main greenhouse gas?
1) Methane 2) Carbon Dioxide 3) Water Vapor 4) Soot

67- Humans have the least role in formation of ... as a greenhouse gas.

1) CO, 2) methane 3) soot 4) water vapor
68- What does the word “anthropogenic” (underlined in the passage) mean?

1) Related to nature 2) Related to human

3) Related to atmosphere 4) Related to pre-industrial era
69- According to the passage, which sentence is TRUE?

1) Natural systems release much more than 6/6 billion tons of CO, each year.
2) Natural systems absorb 4 billion tons of anthropogenic emissions of CO, each year.

3) The concentration of CO, in the atmosphere has decreased during the past centuries.

4) Soot is not a result of industrialization.
70- The word “Nonetheless” (underlined in the passage) can be replaced by ... .

1) although 2) whereas 3) however 4) even though
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